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HT-Con. 8024 & (a, b)-15.

(REVISED NEW PATTERN)
{Z Hours) [ Total Marks : 60
N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
Define Motivation. Discuss Herzberg’s Two Factor Theory of motivation. 15
OR
Define leadership. Discuss Hersey and Blanchard’s Situational Leadership
Theory.
Write short notes on (any three) :— 15
(a) Management skills
(b) Organizational behaviour
(¢) Coping with temporariness
(d) Absenteeism
(e¢) Deviant work-place behaviour
OR
Give reasens for the {ollowing statements (any three) :—
(a) Attitudes are evaluative statements about objects, people or events.
(b) Organizational commitment is identifying with the organization.
(¢) There are consequences when employees like or dislike their jobs.
(d) Satisfaction is negatively related to turnover.
(e} Happy workers arc productive workers.
State whether the following statements are True or False and give reasons 15
- for your answer {any three) :— '
(a) Organization cannot cxist without oommumcanon
(b) The communication process consists of five key parts.
(¢) Information flowing from higher levels to lower levels is called
upward communication :
(d) Oral communication has both advantages and disadvantages
{¢) Rumors and grapevine are not the same.
OR
Explain the following terms (any three) :—
(a) Power
(b) Legitimate power
(¢) Power tactics
| [ TURN OVER
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(d) Sexual harrassment
(¢) Impression management.
4.  Complete the following statements by choosing the appropriate woerds (any 15
fifteen) :—

(1) A — group is a designated work group defined by an
organizations structure.
(a) Formal (b) Informal
{¢) Interest (d) Friendship

(2) The last stage of group development for a temporary group is called
as —————. '
() Norming (b) Forming
{c) Adjourning (d) Performing

(3) —— -—— contract is an unwritten agreement between the
management and the employee.
(a} Mental (b) Legal
(c) Psychological (d) Technical

(4) — is a socially defined position or rank given by group
members to others. ,
(a) Stature {b) Status
(c) Title (d} Leadership

(5) refers to the degree to which members are altracted to
each other and are motivated to stay in the group.
(a) Cohesiveness (b)Y Decisiveness
(¢} Temptation (d) Pull power

(6) ———— describes the degreee of self awareness a person

POSSESSES.
(a) Johari window (b) Wife positions
{c) Feedback {d) Sclf disclosure

(7) According to Johari Window —————— can be reduced by
requesting feedback from others.
(a) Blind spot (b) Hidden self
(¢) Unknown (d) Public arena [ TURN OVER
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(8) ——————— can be seen as our frame of reference.
(a) Ego states (b) Working styles
(c) Transactional analysis (d) Others

(9) ———— is a persisent behaviour against an individual which is
offensive or malicious.
{(a) Humiliating (b) Ridiculing
(c) Isolating ' (d) Bullying

A(10) ———— - language is called as the relationship language.

(a) Verbal (b) Written
(c¢) Non verbal (d) Body language

{(11) The early approach to conflict assumed that all conflicts were
(a) Bad (b} Good
~{¢) Neither good nor bad (d) Both good and bad

(12) Conflict which relates to the content and goals of work is called.
(a) Relationship conflict (b} Process contlict
(c) Task conflict (d) Production conflict

(13) Potential opposition is the — in the conflict process.

(a) Fifth step (b) Second step
{c) First step (d) Thard step
{14) —————— mtention indicates an assertive and un co-operative
approach.
(a) Collaborating (b) Competing
{¢) Avoiding (d) Accomodating
(15) ———— intention, a person recognizes that a conflict exists and
wants to withdraw from it or suppress ii.
(a) Avoiding (b) Competing
(¢) Accommodating (d) Collaborating

{16) The second stage in General Adaptation syndrome is
(a) Break down (b) Maintenance
{(¢) Collapse (d) Alarm reaction
[ TURN OVER
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(17) Drug abuse is an example of ————— symptom of stress.
(a) Behavioural (b) Physical
(¢) Emotional (d) Cognitive
(18) —— arises when therc is lack of clarity about the nature,
‘requirements and goals of the job.
(a) Role ; (b) Role conflict
(c) Role responsibility (d) Role ambiguity.
(19) - js created by the valucs, attitudes, beliels and norms

of behaviour of staff members.
(a) Organizational commitment
(b} Organizational culture

(¢) Organizational stress

(d) Organizational change

{20) is a constellation of three factors - a sense of
commitment, challenge and control.
(a) Involvement (b} Hardiness
(¢) Resilience (d) Attitude

[ TURN OVER
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(REVISED COURSE-OLD PATTERN)

(3 Hours} [ Total Marks : 100
N. B.: (1) Attempt any five questions.
(2) Attempt any three questions from Section I and any two
questions from Section IT OR attempt any two guestion from
Section I and any three question from Section 1L
(3) All answers to be written in the same answer book.
(4) Figures to the right indicate full marks.
SECTION I
1. Give reasons for the following statements (any four) — 20
(a) OB has been built on contributions from other behavioural sciences.
(b} Workforce diversity is a challenge for managers.
(c) Modern managers face the challenges of improving quality and
produclivity.
(d) The line between work and non-work time has become blurred.
(e) Tumover is voluntary and involuntary permanent withdrawal from
an organization.
(f) Deviant workplace behaviour is also called as antisocial behaviour.
2. Explain the following terms (any four} :— 20
(a) Attitude components |
{b) Cognitive dissonance
(¢) Organizational commitment
(d) Measurement of job satisfaction
(e) Factors affecting job satisfaction.
(f) Job satisfaction - performance relationship
3. Define Motivation. Discuss the reinforcement theory and equity theory of 29
motivation
4. State whether the [ollowing statements are Truc or False give reasons 20
{any four) —
(a) Group development model has five stages
(b} Groups always have norms '
(c¢) Status is a socially defined position or rank given to groups or
group members.
(d) All members do have same status in the group
{e) Group cohesiveness can be encouraged
(f) Electronic meeting does not blend NGT (Nomial Group Technique)

with ter technologyv. _ '
cotpd &3 [ TURN OVER
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5. ‘The dark side of management can affect relationship on the workplace.” 20
Discuss.
SECTION 11
6. State whether the following statements are True or False with reasons 20
(any four) —

(a) The communication process consists of eight parts

(b) Lateral communication saves time and facilitates communication

(¢) Informal communication is called grapevine

(d) E muail has certain drawbacks

(¢) Knowledge management makes right information reach right people
at right time. '_

() Filtering and selective perception arc bartiers to effective
communicaiton.

7. Define leadership. Explain fiedler’s contingency model and Hersey 20
Blanchard’s Situational Leadership Theory.

8. Write short notes on (any four) :— 20
{a) Formal power
(b} Factors creating dependency
{¢) Sexual harrassment
(d) Organizational politics
{e) Organizational factors that influence political behaviour
(f) Impression management

9 Give reasons for the following statement (any four) — 20
() Traditional view assumed that all conflict should be avoided
{b) Conflict starts with incompatibility
(c) Conflict that hinders performance 1s dysfunctinal conflict
(d) Personal variables can cause conflict
(¢) Therc are two ways of bargaining
(f) Sometimes a third party help is needed to ﬁnd a solution

10. Write a detaiied note on occupational stress. 20

[TURN OVER
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(OLD COURSE)
(3 Hours) | Total Marks : 100

N. B.: (1) Attempt five questions 1 all.
(2) Attempt any three guestions from Section I and any two
questions from Section IT OR attempt any two question from
Section T and any three question from Scctfion 1.
(3) All answers to be written in the same answer book.
(4) Figures to the right indicate full marks.

SECTION I
1. Write short notes on (any four) - 20
(a) Environment
(b) Individual differences
(c) A whole person
(d) Motivated behaviour
{e) Systems approach
(f) Unethical manipulation of people

2. State whether the following statements are (rue or false and give reasons 20
(any four) =-- |
(2) Management role is critical in communication.
(b} Senders require feedback
(c) Semantic barriers arisc from limitations in the gestures with which
we communicate.
(d) Quality is preferable to quantily in communication
(e} No problems affect upward communication
(f) Telecommuting has personal advantages.

3. Explain and crifically evaluate [lerzberg’s Two factor model and Goal 20
' setting theory of motivation.

4. Explain the following statements (any four) — 20
(a) Many types of pay arc required for a complete economic reward
system. _
(b) Money is important for empleyees for a number of reasons.
(c) Valence of money is not easily influenced by management.
(d) Attribution is the process by which people interpret and assign

HT-Con. 8024 (b)-15. [TURN OVER
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(e) There are several incentives that link pay with performance.
(f) Gain sharing plan is production sharing.

5. Write notes on — ’ _ 20
(a) Leadership behaviours
(b} Fiedler’s contingency model

SECTION LI
6. State whether the following statements are True or False with reasons 20
(any four) —
(a) Satisfaction-performance relationship does not exist.
(b) Theft in organization is due to revenge.
(¢) Employee turnover and job satisfaction are not related.
(d) Emplovees exhibit their dissatisfaction through organizational
citizenship behaviour.
{e) There are no ideal conditions for survey.
(f) Changing employee atfifudes is not easy.

7. Explain the following terms (any four) :— 20
(a) Inter-group conflict
(b} Conflict - outcomes
(¢) Effects of conflict
(d) Assertive behaviour
(e) Power and its basis
(f) Political power

8. Distinguish between formal and informal organization. Discuss the benefits 20
of informal organizations.

Q. Write short notes {any four) — 20
(a) Mechanistic and Organic forms
(b) Life cycle of a team
(c) Potential problems in teams
(d) Stages in tcam building
(e) Skills useful in team building
(f) Self managing tearns

10. Explain frustration in detail and discuss the approaches to stress management. 20

HT-Con. 8024 (b)-15. ITURN OVER
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